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the language generated by given CFG.

Eﬂg in which a appears tripled (in
3\}11' at all}

ith a and does not contain the

(4)

1ortest word in the language.

I (4)

epts the language

4)
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o shifting hiring machine. Assume
configuration to be eUwl and desired
ation to be eULwL. (4)

: "-‘.;janguage of all the words

b} eomprising only
g /L. Build a finite
e given language and
eie. (FA)*. (6)
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e n=1,2,3,4,5....} is non-context
(4)

’ wn Automata shown below :

-_ ]iﬁaguage accepted by 1L
.,_. deterministic or non-
(4)

<
V>
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excluding the
e for the word

(4)

ng CFG is ambiguous: (2)
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it i

initi I configuration to be &Lw (if the inpy, |, .

he outpu t should be &Liw’, where v 18 the op

" |”‘ ent of w). Show the trace of ahoye tun”L
chin r],{ on the string L0110,

1.,1

()

¢ that if a language is recursive, it is 4,

(2)

uring Machine M = (K, £, 5,5, (h)).
.-:-_;._E___, {U, >, a} and & is given in

(3)

© (1500)
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